3-1

3-1-1
65
3-1-2
65
31
208 208 416
208 208 416
208 209 417
208 43 251
832 668 1,500
(1)
3-2 )
3-2
65
3-1-3

2020 12 2021 1

3-2



3-1-4

3-2

n=1500

16.7%

e

27.8%

n=668

, 30.7%

, 7.8%

27.7%

27.7%

@

, 61.5%

60
42.7%
70 /
o)
\
|
}
N
44.5%
55.5%
3
n=52 |
15.4% Y
19.2%
73.1% Y



3-2

3-2-1

3-3
3-8
n=832
64.2% 3-5
75
80
3-15
n=208 28.4%
3-19 3-21
3
n=832 36.5%
3-26
n=43

3-9
59
3-11
n=43 2.3%
n=668 27.1%
3-22
3-30
6 3
55.8% 3-31




3-2-2

19.0%
7.6%

3-33

3-34

n=832

3-35
n=832
86.3%

3-36

10.2%

3-38

S
n=832 26.6%
n=832 69.8%
3-35
7.8%
n=668
31.6%




3-2-3

1
36.8% 70.1%
3-39
1 3-
40
1 5 5.4%
5 16.6% 3-43
1
3-44
| 3-40
3-46
1
6 7 2 3
3-47
1 1 6
% 1 2
76.4% 84.6% 88.0%
91.8% 3-50
3-2-4
1 20
3-52
1 20 20
3-53
1
6 7 3 4
3-56 3-58
1 3
4 3-54




3-3-1

Q8

1 n=668

29.6%
22.5% 13.2%
3-3

3-3

n=668 MA 0 10 20 30 40 50 60 70 80 90 100
(%)

29.6

22.5

MA

-10-




MA

1 1 3-11
0.05

3-4

3-4

o1 (n=188) m1 (n=480) (%)

0 10 20 30 40 50 60 70 80 90 100

Ww T
RPRRS

2ol ey
o P o

Op O
Mo o

-11-



Q2

n=832
64.2%
3-6

3-5
n=832
20.9%
/\
14.9%

-12-

14.9%

64.2%




3-6

(n=208)

D
=
(Y
=x
[T T]
L = ]
[ ]
| W
= A
Sl
[ 1

21.6%

(n=208) 63.9% 115%]  245%

(n=208) 58.7% i F17ew T 23.6%
(n=208) 73.1% F130% 1 13.9%

(n=286)

(n=246)

(n=177)

(n=41)

(n=54)

(n=28) 89.3 1 7.1

-13-




Q3 Q2

Q2

19.7%

3-8

3-8

32.2%

n=534 MA

0

-14-

46.4%

n=534

10 20 30 40 50 60 70 80 90 100

46.4

(%)




Q1

n=832

41.3%

n=832 MA

51.0%

3-9

3-9

-15-

46.3%

82.0

82.0%




Q7

n=668 65 69 25.1% 70 74 34.0%
6 75 79 80
21.1% 3-10
75 79
80 18.8% 20.2% 23.4%
25.6% 59
3-11
3-10
(n=668) | aso @60 64 @65 69 ©70 74 875 79 m8O
0% 20% 40% 60% 80% 100%

3-11
|:| 059 @60 64 @65 69 @70 74 @75 79  m80
0% 20% 40% 60% 80% 100%

e R,
——— 38 5 T

(n=208) | 6.7 |96/}

|
(n=208) | 10.1 %12.5%
|

(n=209) | 81 [ 124"}
|

e ]
s Q5 @ ]
s £, 0 ]
o SRR

(n=43) 16.3

-16-




3-13

3-12

059

(n=45)

(n=43)

(n=54)

(n=28)

(n=72)

(n=426)

3-12

@60 64

@65 69

@70 74

875 79

m80

e —— e ——
. B,
2 8 9 e 8 9
T m——— .
B,
AN L vy nyyy RN,

26.7

E 116

23.3

o

b

e,
R,
R,
R,
R,
PPN,

B )

)
e

L .

N B
e

10.1

0 N o 0o B~ W DN P

O 00 N O O b~ W N

=
o

10

3-13

-17-

(%)
30
281



Q4

n=534
75 79 39.7% 80 36.1%
4 3 3-14
80
27.6% 27.9% 38.3% 52.0%
3-15
80
3-16
80
3-17
3-14
(n=534) |
D65 69 ©70 74 875 79 m80 o
0% 20% 40% 60% 80% 100%

3-15

a65 69 a70 74 a75 79
0% 20% 40%

m80 o
60% 80% 100%

(n=152) [HRN10.40
e

(n=122) |

(n=133) f:

(n=127) |

-18-




3-16

065 69

B70 74

875 79

=80 o

3 5
1 2
1
(n=39) 20.5
=2 = o =15
3 5
0% 20% 40% 60% 80% 100%
0% 20% 40% 60% 80% 100%
23
[
e (n=86) + 3.5 Hmmm— 395 453
(n=105) 133 37.1 438 L ——]
13
o » .
(1=49) 1] 6.1 e 44.9 (n=75) :Es.o != 507 32.0 H
T ;
ae65 69 =70 74 =75 79 m80 o 065 69 m70 74 ®s75 79 m80 a
2
0% 20% 40% 60% 80% 100%

(n=47) § 213 §

065 69 m70 74

m75 79

-10-

m30 o



Q5

20km

3-18

3-18

n=1500 MA

45.9%

62.6%
37.8%

0 10 20 30 40 50 60 70 80 90 100

-20-

62.6

(%)




Q9

2.3%

3-19
3-19
(n=208) ®@

(n=208) ©

(n=209)

(n=43)

100

e T Rk (%)

"o of
o0 Qoo
oo Opac.ncn

=]

OO00 0000 OO0O OO0
ocoUl OO00 0O0D OO0 OO0

.|_IIH
RO

o
o N
© W

| ]
[

[N

wo

=~
o

-21-




3-20

3-20

o1 (n=188)  m1 (n=480)

0 10 20 30 40 50 60 70 80 90 100
(%)

27

q 21
0.6

-22-



Q6

3-21

3-21

(n=208)

(n=208)

[a]

(n=208)

(n=208)

28.4%

(%)

-23-




Q10

65.3%
49.3%
3 27.1%
36.5% 3-22
Q12

3-22

o (n=668) B (n=832)

0 10 20 30 40 50 60 70 80 90 100
%)

-24-




Q11

Q10
7 68.3% 3-23
3-23
n=1500
6.7%
25.8% \
/ 24.9%
I/
/
\
, 42.5%

Q12

-25-




Q15

87.5% 79.4% 80.4%

67.4% 3-24

3-25

3-24

0% 20% 40% 60% 80% 100%

(n=208)

(n=208)

14, ]]]]]]13.9"]]]-&5.7
488 SN o3

(n=209)

(n=43)
8
[
3-25
0% 20% 40% 60% 80% 100%
i 1 (n=188)
i 1 (n=480)
5] a8
o "]

-26-



Q16

1 Qi5

42.1%
3-26

3-26

43.0%

n=544

41.2%

n=544

COo2

-27-

430

421

412

60

80

100
(%)



Q15

COo2

3-27

3-27

ol (n=58) @1 (n=189)

COo2

10 20 30 40 50 60 70 80 90 100
(%)

-28-




Q13

25.0%
37.4% 40.7% 60.5% 3-28
1 1
3-29
3-28
0% 20% 40% 60% 80% 100%

[ ] 8
m (]
3-29
% 20 40% 60% 80% 100%
L1 (n=188) 28,20 | 37.2%
L1 (n=480) 24.2% | 39.2%
[ ] B
m [m]

-20-




Q14

1 Qi3
56.8%
45.6% 35.7%
32.8%

3-30

3-30

n=241

n=241

0 10 20 30 40 50 60 70 80 90 100

-30-

56.8

(%)




Q17

6
3 23.6% 36.1%
55.8% 3-31
1 1
3-32
331
0% 20% 40% 60% 80% 100%
(n=208) 236 731 oL .,
[ ] =
3-32
0% 20% 40% 60% 80% 100%
b1 (n=188) 67.0% l\_3 -
L1 (n=480)

65.0% I\
2.1%

-31-




3-3-2

Q18

ETC2.0 ETC 1,600 1600
ITS

ACN

AACN

-32-



n=832

58.1% 91.4%

3-33

S

n=832 26.6%
S
3-33
n=832 0% 20%  40% 60%  80%  100%
==~
55 I N I
S 733
24 I N
ETC2.0 61.7
43y . 1 1 [l 1 |
96 [ECIMEEE— 224
[ [ [ 1
s3(lIEENMNE== 209
I N R N
133 [[EENE=EEE= 203
I S N N
s[ERII=EE= 490
I N R
133 E1665
I .
SN IN=2E=
36 10
men_ [EwE
3.1 '_7.7

-33-



Q19

n=832

69.8%
3-34

3-34

(n=832)

30.2%

69.8%

-34-




Q20

n=832
n=832
10.2%
3-35
3-35
n=832

7 71.2% 93.8%

7.8%

0% 20% 40% 60% 80%

19.0%
7.6%

100%

Il
5.5

I
ﬂim

-35-




Q21

n=832
86.3%
n=668
31.6% 3-36
3-36
(n=832) | (n=668)
5.4%
12.6%
8.3% \
40.0% /
53.3% 1] 19.0%
)
7
:7/\

46.3% 15.1%

-36-




Q22 Q21

S
S
S
Q21 n=718
S S
284% 3 18.8% 3 5 14.7% 5
3-37
3-37 S
n=718
20 30
30 1.9%
3.8%
paa iy
10 \ : ,:
20 1 26.0%
10.2% 1
/ \I |
[ \
A
5 \
10 \
23.5%
Z 3
3 19.4%
5
15.2%

-37-




Q23 Q21

Q21
n=114 43.9%
39.5% 36.0% 3-38

3-38

n=114

0 10 20 30 40 50 60 70 80 90 100
(%)

439

39.5

36.0

-38-



Q24

ACN

S

ETC2.0

AACN

-30-




3-3-3

Q25 Q29
Q25
1
36.8% 70.1%
3-39
1
1
3-40
3-39
7.9%
36.1%
—A
24.2% 28.9%
I )
60.7% T
27.1%
3-40
0% 20% 40% 60% 80% 100%

r——~===== 1

! ! (n=78)

i i (n=505)

i i (n=201)

i (n=48)

-40-




3-41

341

%

v=as1) KRR TINATL = JITINIINNINSS =+ 5§
2 s o=2e0) RN oo HMMMIMIIIINIES =+ =&

= m =] ]
3-42
3-42 —
EEHE - [FIFEA WA - Bo~SAEE

BAENES a¥SoiEEAIEAENES BaEYES DESohEERIERENES
BFESITFER AL {ENVEL arEsirk S8 1 BEAYIL AL

WEbREEE - @1 ~2EEE B - ITeA K LG
1 1 i | Ekl ] il s 100% [, 1 et 1 il ] il ] B0R 1 00

BRERSD orsairBRIZAMENRS BA{ZHES oXeehEZAMARYRS
BrEAN FELE AL W AR pEsaEhEER IS A ES UL BEAZHEL

-41-



Q26

5
5
5 5.4%
5 16.6% 3-43
3-43 5
(n=832) (n=668)
) )
80.5% 92.2%

-42-




Q27

(n=832)

(n=668)

3-44

3-44

0%

20%

40%

60%

80%

100%

0%

20%

40%

60%

80%

100%

-43-




3-45

3-46

] 0% 50 100%
ez e ==

6.5% 7.0%

(n=631)

] o 50 100%

i ! (n=131)
i ! 6.9%
o - o] e R
""""""" g 20
] o 8 [ |
3-46
[ ] o 0 100
i i (n=201)
! ! (n=631)
L ! .
[m]
]

-44-



Q28

6 7 2 3 3-47

3-47

n=832 0% 20% 40% 60% 80%  100%

n=668

0% 20% 40% 60% 80% 100%

2
r=o

-_I_-
ERE

oo'—‘cn

T
[t~ a7
B Ta—

-45-




(n=126)

w

(n=126)

o A =D
- (=
oy o ([IERINEEE

(n=69)

ass [N EEEE -o-

4.0

(n=126)

Sl 2 [lEXNN ==
o=2c) | T[T [N = =
o=z | RN 11 2 IO -

s [
D

o==v) SRR [ = = I

35.0
249

(o=2o0). |SRCEN 12 ==

oers | TS IO
- (e -
se [l

o

a

-46-

-

w

2

(n=126)

(n=126)

(v=265) [ oz I == S

o=, | e TIMMINES = S
28.0 .
(v=2) S 11 I = R

oo | I TR

A -
.

- e [IERINEEE -

oz KRR IE =

(r=231)

(n=69)
JEEEN: -
.

o) ERTEE =R

o-co | T << T R
.



3-49

oo | R (I[Nl e ae ||| TN -
30 _
i) [T s 1111112 1111

3-49
1
3 5
el == - gl = B -
o IE||[[=:] [ == oo R ==
=] o =] o
=] =] =] =]
1 2 1
TN ENNE=E - o || ||| ===
e [ ({111 (111 e R =42 [ 11111122 -
=] o o
=] =] =]
2,
3 5
s = N NiERE - s = TSNS -
e [ ||[[[=: || = sl =T RRIT]] ]
8

-47-



o HERNN === - g e =5

4,

158
331
= R[]z ==K il =TT
(
21 5.5

Ngl==z= - = [[EE====
.9

2
N ===
19. 2

12

24
31
30
72
23

330

5

- ]| =2 - == ||| |||l == =K

> llEAII === e ||| = e
29.2 1

o

w0 1111 s 1111 = =l -
) (

21 24
111111111162 I E==:

(n=101

-48-



6.

- [l == - HEEET= -
35.1
s = HEII== e Gzl ==
yXi]
299

e |11l == = lESIISEE -
.7

16.5
7.7
5,
o E== = - IRI=EE=
o E——a -~ EEEE:E==
215 )

1
14,
e IR === = lIERINEE -

427
2
ey e |||kl ST - M i 111211111 1E- 3
32

24
ey es |11 k1113 -~ S L1111 ka1 22

-49-



Q29

1
1
1 6
%
1 2 76.4%
84.6% 88.0% 91.8% 3-50
1 1
1 2
3-51
3-50 1
0% 20% 40% 60% 80% 100%

1 e 269 = ==a==0%4 ios
L o0 337 [T I == |

(1=208) 322 A SESE==EE 351

(n=208) A== | ,,

Y il SR |

n=208) EEY|72[|Es = L 639 |

24

(n=200) XTI 8[=0.1= : 64.1 |

_____ (n=43) 186  |MITEER 7. 62.8 |
23
L] o 3 5 =] 1 2 o1 o u]
3-51 1
]
0% 20% 40% 60% 80% 100%
L L1 62.2% |
L 64.4% |
L] =] 3 5 1 2 21 o u]

-50-




3-3-4

Q30
I 20
3-52
3-52
20% 40% 60% 80% 100%
(n=208) 370 (G - gm
(n=208) 222 E=EAm| 2% 11-1@3%
(n=208) 337 =z [N 7222 i =T=
(n=208) 208 [T e AN 244 /&13-5
(n=208) 476 G oL &.8'5
(n=206) 30.9 [ A 36}:%1.0
(n=209) 313 LN Z22 zé.Sf/if””mﬁm
(n=42) 209 [l ZRS e ==
o0 w0 a0 -

-51-




Q31 Q30 5 5 10 10 20

20

20 20
3-53

3-53 20

0% 20% 40% 60% 80% 32 100%

B o5 IEIIIIZZEY\E\E i B
. 125 [NESEMIZZEZ N\ NN =TE=—FEEs o0

2o IR 257 NN == HE
. NN\

(n=168

=

_____

(n=201) 473

05
eesen. | ESIIIII I
= 2o [EEZEZ N 2=
oo A N5
29
20 1 a4 1 A e

-52-




Q35

4 3-54
3-54
(n=832) (n=668)
30.6%
/ 40.4% \,
[I 45.1%
\
-
63.7%
5.6%
14.5%
Q32
1
63.9% 64.4%
3-55
3-55
=2
35.2% \ 34.7% \
| |
| |
63.9% 64.4%

-53-




Q33

6 7 4 3-56
1 1
3-57
3-56

0% 20% 40% 60% 80% 100%
C (n=208) 26.4 67.8
L L Re AR .
o (n=208) 61.1 .\5 3
(n=208) 721 I\1.4
B (n=208) 69.2 B,
(n=208) 702 I\2_4
o (n=208) 55.3 .\2.9
P (n=209) 62.7 =%
(n=43) 58.1 \oo

=] [m]
3-57
[ ] 0% 20% 40% 60% 80% 100%
i i 1 62.2% I\le%
i i1 62.5% l\3_3%
a [u] =]

-54-




Q34

3-58

3-59

3-58

100%

80%

60%

40%

20%

0%

I\\—L4
II\“34

oo
B,

69.7
60.6
67.3

64.4

|\1.o
I\1.9
.~2 9
Moo

63.9
58.1

71.2
69.4

3-59

100%

80%

60%

40%

20%

0%

I\l 1%
I\Z.l%

70.7%
66.3%

-55-



